Answers

1
) three hundred and twenty-four CCCXXIV 324
one hundred and ninety-four cXCv 194
six hundred and sixty-three DCLXI 663
nine hundred and eighty-two CMLXXXI 932
2) 312 75 992 s 156
ceexi LXXVv CMLXXXXI vc cwi
CORRECT CORRECT INCORRECT INCORRECT INCORRECT
cMXcll Xev vl
1) CMXCIX - DEXXXIN = CCCLXVI
999 - 633 = 366
2)
CDLXX MD
CXXXNI | ccexxxvi DXL | eMLil
LXXVI i CCLXXX cexve | cean DCL
LIV XXII XXXV | CCXLV LIV cxen CX DXL

1) a) CDLV + CcCC| m

CDLV + CCC Xv

CDLV + CCC v

= CMXXIII-C | XV
= CMXXIII- C L
= CMXXIII-C X

b) smallest number is 363.
CDLV + CCCLXVII = CMXXI - €

2) There are many possibilities, such as the
following. Children should notice there are
certain hundreds numbers that cannot be —/
represented with three Roman numerals due

to the number of symbols required.

102 = Cl 151 = cli

10 = CIV $06 = DVI
106 = cVI 60] = DCI
104 = CIX 901 = cMI
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